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[E])
2 BHBPDT—F—DEIR (Maszh# pp.94-95)
IR f(,y) WEXBIFEIR D 1I2BWT C" #T, (a,b) €D £ 5.

1) (F=5—0FE) (a,b) ¥ (a+hb+k) BEIEIN D ICEEND L X,

— 0 0 0 d\"
Flathbtk) = JZO (h% ka—> F(a,b) + !(ha—zw@) Fla+0h,b+ 0k)
Y3 0e(0,1) BEFET 3.
(2) (ERR)
— 1 9 9 \I 2 2\n/2
Flathbtk) = Z (ha?““a*) Fla,b) + o((h2 + E2)™2)  ((h, k) = (0,0)).
Jj= 0
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1. (h8x+k3y> fla,b) ZEET B,
(hg%g)?’f( b) = w0 anen L g T e 0 f(a,b)
oz " Fay) 1@ e 8220y gzdy? " oyt )N
3 3 3 3
30°f 2, 0°f 2 0°f s0°f
= 1 55 (@) + 30k o (@, 0) + 8hK? 55 5 (a,0) + K g5 (a, )

= fraw(a,0)R® + 3 fray(a, D)R%k + 3 fruy (@, b)hk? + foyy(a, b)k>.

2. f(z,y) =xe” Y D3IREFTOYIr—Y VER (FRTOT—7—EH) ZHuLEHOETRD 3.
f(0,0) =0, f2(0,0)=1, f,(0,0)=0, fux(0,0)=2, fry(0,0)=—1, fy,(0,0) =0,
J22e(0,0) =3, faay(0,0) = =2, fayy(0,0) =1, fyy,(0,0) =0

TH5h 5, Lo (2) ZHIL ((a,b) = (0,0) £ LTEHEL, (hk) % (z,y) TEBEHZ ),

1 1
2"V =+ a? —ay+ oo 2Py + sy’ +ol(a? + )Y ((,y) = (0,0).

Gy eX =14+ X + 3X* +o(X?) (X = 0) ZHWVT,
we"V = z{l+ (x —y) + 3(x — y)* + o(z” + ¢*)}
=z+a’ —ay+ 32° — 2y + Juy’ + o((@® +v)*?)  ((z,y) = (0,0)).



2 RYBAMDMIERIE (it pp.95-96)

M (a,b) DEFTERI NI 2 = f(z,y) DA (a,b) TWKE f(a,b) ZL 2 X, TORIBIS f
DIHE f(a,b) B3, (a,b) D (T73/NE72) EFEDOEREDR (2,y) ((z,y) # (a,b)) TBFRHEIDKENZ %
WS, Thbb, M (a,b) ZRDET ¥ Ee>00M%2 D L, e Z/hElk bt

fla,b) > f(z,y) ((2,9) € De, (2,y) # (a,b))
DEDIALDZ WD (BIMEIZDOWTHARE). MUKAE & ) ME 2 58FR U CHEME & A,

(i) HEfE%Z £ 37-ODRELHY (MHEE & 3 mOPEH)
B f 23 C TR (a,b) THEMEZ & 272512, fi(a,b) = f,(a,b) =0 TH 3.
(ZAUES (a,b, f(a, b)) B BHIT 2 = f(z,y) OETPHA cy FHICTATCH 2 2 L REKT 2.)
(i) HBEDFIA
B f 13 C? 4T, fo(a,b) = fy(a,b) =0 TH 2T 5. K%
D(a,b) = fuz(a,b) fyy(a,b) = fuy(a,b)?
TERT 5.
e D(a,b) >0 5D fuu(a,b) >0 &5IE, fIE8 (a,b) THNMEE L 5.
e D(a,b) >0 2D fiz(a,b) <0 251X, fIIA (a,b) THAER & 5.
e D(a,b) <0 %51, f 13 (a,b) THIEE £ 5720,

(EHEHI
1. B f(z,y) = —22% — 2y — 9% + 22 — 3y OIfEZRD k.
(FRE] f o2 XL T OIREREIE
fo=—4x—y+2, fy=—2-2y—3, foo=—4 foy=-1, fyy=-2.

(i) fo = fy =0 ORI (z,y) = (1,-2).

(i) A (1,—2) IKBWT f 2MfEE L 20X 5 0 %NS,

D(1,-2) = (=4)(=2) = (=12 =7>0, fua(1,-2)=-4<0
THEDE, £ (1,—2) THAM f(1,-2) =4 %r 3.

2. B f(z,y) =2t + 9t — (x +y)? OWfEZRD XK.
(BRZ] f D2 RUTOREELBI
fo=42" =2(x+y), f,=4y"—-2(x+y),
fwa: = ]-2:62 -2, fzy = -2, fyy = 12y2 - 2.

() fo=f, =0 %<, fo—f,=0&D 4@*—y3) =0, o Tz =y ZOFFREFELT
(z,y) = (0,0), (1,1), (=1,-1) 21§ %.
(i) ZNHDRRT fHMELR & 2008 502N,
o 1 (0,0) IZBWVT, D(0,0) = (=2)(—2) — (=2)? = 0 (LOY¥HREIXHEZ 2V). f(z,0) =
22(2? — 1) <0 = £(0,0) (0 < |z| < 1), f(z,—2) = 22* > 0= £(0,0) (z #0) TH 3D
5, (0,0) TIFMEZ L &%,
o 1 (£1,4+1) I2BWVWT, D(£1,+1) = 10-10 — (=2)2 = 96 > 0, fu,(+1,£1) = 10 > 0.
EoT, FIEs (£1,4) THUME f(£1,+) = -2 2 % (REFIEH).
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1| X0 f(r,y) KOWVWT, 3RODEEFTHO~YIr—V YEH (FARICBY27—7—EH) %
flz,y) = (z,y D3RKK) +--- DIFTKD X.

(1) f(z,y) = sin(zy) (2) f(z,y) = V1+2z%log(l —y)
(3) flz,y) = (1+y)* (= evlostty)) 4) f(z,y) =a"t® (a>0,a#1)
6) f(oy) =~ (6) f(z,y) = V1te>y

COS T

2 | ROBEE f(x,y) P (0,0) KBWTHREE & 252 5 22 H5BE X.
(1) f(z,y) = cosz +cosy + 2xy 2) flz,y) =2 +y!
(3) f(z,y) = 2* — 222 + 4oy — 21> (4) f(z,y) = 2* +y* — 222 + 4oy — 212

3| RO f(a,y) LT folz,y) = fylz,y) =02723 (z,y) BTRTRD K. X512, fla,y) D

W% KD K.

1) flzy)=2"—ay+y’ o -4y (2) flz,y) =2’y —ay? +2° —ay+y° +1
(3) f(z,y) =sinz+siny —sin(z+y) O<z<m, 0<y<m)

(4) f(z,y) =sinzsiny O<z<m 0<y<m)

(5) flz,y)=(x+y)e = (6) flx,y) =2®— 2%y +y°

[LAR— FERRE]

XD (1), (2) OWVWTIE 3XRFTOY 7 a—Y VEH ( ERUTER) 2KD, (3), (4) DWW TIIHR
fEZ KD K.

(1) f(z,y) = sin(ze?) (2) f(z,y) = e"log(1 + xy)

(3) f(x,y) =522 + 6xy + 2y + 22 + 2y (4) f(x,y) = (e* —x)coshy



